
Two diode full wave rectier 

In a half-wave rectier there is no recticaton acton  drinn the -ve half cycle of the inpdt AC voltane. 

Becadse of this the odtpdt DC level is low (0.318 VS(peak)). This limitaton of a half-wave rectier can be 

overcome by dsinn two  io es an  a centre-tap-transformer. 

Each  io e an  the common loa  resistor RL form two in epen ent half-wave rectiers. Becadse of the 

centretappe  secon ary win inn, each  io e receives only half of the total secon ary voltane. The 

opposite en s of the transformer secon ary win inns always have opposite polarites with respect to 

the centre tapwhen en  A of the secon ary win inn is positve, the botom en  B will be nenatve. For 

the polarity shown in Fin a, the ano e of D1 is positve an , hence, forwar  biase . Whereas, the ano e 

of D2 is nenatve, an , hence,  oes not con dct. Cdrrent fows from the transformer(en  A) → D1 → RL 

→ back to the transformer centre-tap. This  irecton makes point C across the loa  RL as the +ve 

terminal of the odtpdt DC voltane. Ddrinn the next half cycle, en  B of transformer is +ve an  A is –ve as 

shown in Fin b. Hence the ano e of D2 is +ve an  this  io e con dcts whereas D1  oes not. Cdrrent 

fows from the transformer(en  B) → D2 → RL → back to the transformer centre-tap. This  irecton of 

cdrrent anain makes point C across the loa  RL as the +ve terminal of the odtpdt DC voltane
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